
Academic Year: 2009

Time: 13.30 -16,30 ').¥.Date: February 26, 2009

Course: 226-203 Computer Aided Design

1. This is a closed book exam.

2. This examination includes 10 questions.

3. The total score is 100 collected 30%.

Section Time (min) Score Your Score

1 70 40

2 110 60

Total 180 100



'ilElU~ 1 Geometric Transformation

1. ,;)lmiu'il1-\1 A ~n~ltJ (Translation) LU~1tJ1::tJ::'Yll-\1 d = [1 -2] nalmuu

LiU'il1-\1 A' LU1::Ul1J 2 iJ@) ~-\lLL~'il-\lLU1U~ 1 Li'V\1~1Jnl1LL1J1J Parametric
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2. ,;)-\lL;jtJU~'il1"lJEI-\lnl1'V11JU1E11J,;)'ilnlLii.'il(Rotation around the origin) ';)In';)'il'U q q q

P(z,y) LUrJ-\I';)'il P'(z',y') LU1U"lJEI-\lTl111Ji1Jwuf"lJEI-\I!il1LLU1 z,y,¢ i-\l
q 'U
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3. ';)\1LLGf~\li'HIrh\lL vj el'ViGf';)u,1tKL~'U,'"h hOll hOl2( p)) * hOl2( hot! ( p)) ~ fJ
'IJ

nl1Gf~lJ~1~lJ1i fJ'U,'VI~\I"1JfJ\lnl1'VI3Ju,,;)::~~1i.1l Lvhnu, (Rotations are non-,
commutative) (10 ~~LL'l4'l4:20 'l4Tri)

4. ltK'VI1~lLL'VIt.L\ll'V11l"1Jfl\l~~P (5,3,1) 111~'VI~\I,;)lnn11'VI3:!u,1fllJ~~'VI3:!U,Q (1,1,1)

11.115 fJ\I~l 1fJlJLLnU,Z (10 ~~LL"":20 "Tn)

5. ltK'VI1~lLL'VIt.L\ll'V11l"1JfJ\I,;)~P (2,4,6) 111~'VI~\I,;)ln'VI3Ju,1fllJ';)~nlLii.~ (Origin), , ,
i.t1 30 fl\l~l 1fllJ LLnU,X LL~::~fJ~1~'VI3Ju,1fJlJ';)~nlLit~ (Origin) i.t18n 45 fJ\I~l, ,

•••
1fllJLLnu, Y (10 ~~LL"'l4: 20 'l41't1)



6. ,;)\I'l.HJn,jEl~m:n.h::nl'Hh~tlJ ') 'iJEl\lnl1~fl\1 Curve ~1£J Cubic Curve L~mYi£JU

nunl1~fl\1~1£J Hermite Curve Vl1El Bezier Curve (5 ~::LL"": 5 ",ii)

7. L~mllV1'U,~ril C = [~3 ~3 ~2 ~] ~l'Vl'rUnl1~fl\1 Cubic Curve l'U, 2 ij~
..•

(15 ~::LL",": 30 "TYI)
•••... d

7.1 ,;)\lVllVln~';)~ (x,y) LlJEl t = 0, 0.5, and 1• d
7.2 ';)\lVll Tangent Vectors LlJEl t = 0, 0.5, and 1

. d
7.3 ';)\lVll Normal Unit Vectors LlJEl t = 0, and 1

.c!l 0 I 0 Q",oI t,.I

8.LlJeJnlV1'U,~f11 Po= [5 1J, ~ = [98J, P; = [-1 3J, and ~/ = [1 2J ~1V11unl1~11\1

Hermite Curve l'U, 2 ij~ (15 ~::LL'"'": 30 ,",ii)
•• •... d • d

8.1 ,;)\lVllVln~';)~ (x,y)'1I"\I Curve ~l'U,LlJeJ t=0.5• d
8.2 Tangent Vector LlJeJ t = 0.5

dOlO.... ll./l

9.LlJeJnlV1'U,~f11 Po= [11J, ~ = [2 4J, ~ = [66J, and ~ = [8 OJ~1V11unl1~11\1

Bezier curve l'U, 2 ij~ (15 ~::LL"":30 ",ii)
•• •... d • d

9.1 ,;)\lVllVln~';)~ (x,y)'1I"\I Curve ~l'U,LlJeJ t =0.5•
d VI.I • ..1 1 ... 0 , ••• ..t, () d

9.2 LL'leJ'U,,;)~~ LueJ£J'Yl,;)~ ~LLL'lTY11LVICurve 'U,~1'U,,;)~ 5,5 LlJeJ t = 0.5
• 'II • •

10. ,;)\leJiUl£Jfl11lJVllJl£J'iJeJ\I Degrees of Continuity l'U,nl1L~eJlJ~eJ 2 Curves i\l
• ~.I..t •••

~eJ Lu'U, (10 ~::LL"": 15 "''Yl)
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